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OB NSUYBULSEEHEXN S (MHZ) 0 21,600 A 21,600
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307 glz2tol & 0 28,000 228,000
04 DIZHHALALSE E X 0 28,000 A 28,000
OZ&SE0I2t01 5| M X E M (A H2) 0 28,000 A 28,000
dzel (L3 /gy 22l) 0 100,800 A 100,800
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A2 (KX D) (IIEH/IIE) 9,951,770 10,428,198 ANAT6,428
el 2d | 9,274,178 9,644,258 A 370,080
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N & O & g & M A
20204 S % 3 8 YBEH M
AR NAYER SN QAT
o OANMTEYUSH AV BIYY /A HT)
SRl MBS OIAS CERED
A .24 - B BAGEA) - NPAY - BES 0] &k o4 p/E-T Hl D2
Ol ARt 66,576,392 67,442, 136 865,744
QAT USH LU DT /LB HE) 8,253,167 9,506,950 A1,253,783
SDBHAANST 552, 150 752,150 200,000
D2AANIIAE 443,000 643,000 200,000
202 04t 0 200,000 200,000
S ETTT 0 200,000 200,000
O2HZ AN MBS (R) 0 200,000 200,000
sM=T 5 7,701,017 8,754,800 A1,053,783
HNASM= X E 7,701,017 8,692,800 £991,783
101 2121l 75,927 180,250 ~104,323
YBIEEESTETPN 75,927 180,250 ~104,323
OSMA S (HESHS)SAR 45,502 92,245 £46,743
ooRy A 35,735,008 35,735 72,569 36,834
Ol 23 3,120,0008 3.120 6,336 £3,216
Onsyl 2 1,560,0009 1,560 3,168 A1,608
OFg+g 2T 4,124,008 4,124 8,247 ~4,123
oo Rt AT 963,008 963 1,925 £962
OZSTHEAUH LB AR 3.109 20,829 ~17,720
oogy 2 2,749,0009 2,749 8,417 ~15,668
Ol 33 240,002 240 1,608 A1,368
Onsyl AT 120,008 120 804 2684
mEES PP 27,316 67,176 239,860
oosy A 20,616,002 20,616 54,976 734,360
Ol 23 1,800,0009 1,800 4,800 A3,000
OnEYl 23 9000002 900 2,400 A1,500
os=3 2 4,000,0009 4,000 5,000 A1,000
201 YEr2 | 5,492,800 5,687,960 £195,160
01 At 22/ t] 29,800 68,800 239,000
mETETE=1 29,800 68,800 39,000
OSCHEFIIZBSRY(HA ) 0 4,000 4,000
OALSVHHELH (B2 MEHIS)
2 10,000,0002 10,000 45,000 £35,000
02 B2l 136,000 264,000 128,000
OJ2ZR3LAA 126,000 250,000 A 124,000
OBFZSAHALE AF 126,000,0002 126,000 250,000 A 124,000
OAEZEIS A 10,000 14,000 £4,000
OALSVHEHF I+ LT
A 10,000,0008 10,000 14,000 £4,000
03 A2 HI 0 40, 160 £40,160
OSXAIIS2HMSUHS (M) 0 20,160 A 20,160




AR NAYER SN QAT
HE: QAN ASASHLBBTY )
Sl BMEXSH CERED
SERE VEE-ERE-E 165 o - B4 p/E-T Hl D2
EEPIEEETE: EEED) 0 20,000 20,000
04 HBEH= X HE A 5,327,000 5,315,000 12,000
OXNBCR 2 1,062,000,0002! 1,062,000 1,050,000 12,000
202 01t 0 250,000 250,000
NIERTCEL 0 30,000 230,000
=201 AHHI 2 OFES 0F Bl ( 0 30,000 30,000
04 2XI5H04 bl 0 220,000 220,000
I oH el & &K & R H 8 ( 0 150,000 £150,000
AR E o 2 (F 0 70,000 A70,000
303 T3 075,000 1,227,000 A152,000
NEXE 075,000 1,227,000 A152,000
mEELIBIES- B 0 60,000 60,000
ONZHSHEYHN 190,000, 0002 190,000 282,000 £92,000
307 21201 & 850,000 1,100,000 A250,000
05 2I2t9IEt 3 0 250,000 £.250,000
OEHAASMLEHSE w2 0 250,000 A 250,000
405 Tt oHF St 195,700 236,000 40,300
01 R 2 St 195,700 236,000 240,300
mESYINPEX-FPlE & 30,000,0002! 30,000 40,000 £10,000
SEHEEE RS IR (F) 0 16,000 A16,000
ONARSA L2 165,700,002 165,700 180,000 A14,300
2t Z S ALK 0 62,000 A62,000
201 YBt2 | 0 36,000 36,000
01 AL 22lH] 0 36,000 236,000
mEETE=A 0 36,000 36,000
ONEHSUHISERY (HA) 0 36,000 36,000
202 01t 0 26,000 26,000
01 =Ly ol bl 0 26,000 26,000
OZXQSALASHS Of bl (F o4 2t) 0 26,000 226,000
A=Y (L BIHY /Y 294,654 5,844,825 AB550,171
SEUMsH ,587,641 4,084,812 AA497 171
S InE LY 587,641 4,084,812 £497 171
201 YBt2 | 602,214 1,701,814 £.99,600
01 AlR 22l H] 602,214 1,701,814 £.99,600
mE I 593,214 1,602,814 £.99,600
O425TSENAZDS FF 36,000,000 36,000 75,600 39,600
0428TEBRAY
129,000,002 129,000 189,000 60,000
202 01t 985,427 2,382,998 397,571




SR = M
ASOITHY S (LHBTYE /LB T)
LEHOITS S

A .24 - B BAGEA) - NPAY - BES 0] &k o4 0| % o Hl D&

04 =Xl =t Hl 758,087 1,155,658 A 397,571
O2UnSHI A (HA2) 0 248,000 A248,000
OFEJI=Zd&EH 758,087 907,658 A 149,571

og3= Z & 108,800,000& 108,800 88,800 20,000

O&hlt= 2 & 159,600,000 159,600 173,200 A 13,600

O bl ZE 446,342,400 446,343 593, 186 A 146,843

ORSIN=3-8= 1= d & 35,904,000 35,904 45,912 A 10,008
OJIEH (Mg Z=HZ,H=01&8HIS)

28 7,440,000& 7,440 6,560 880

S Y 1,707,013 1,760,013 /53,000

ANLSRALESAE 1,377,504 1,430,504 A 53,000

201 et 1,219,200 1,259,200 A 40,000

01 At 2teltl 1,213,200 1,253,200 240,000
OZZ2LH192HASELHL =Y S

Z & 104,000,000 104,000 144,000 240,000

202 044l 7,000 20,000 A 13,000

01 S LHOYI 7,000 20,000 A 13,000
OANEHEEeIQEAEE A 2 & 7,000,000& 7,000 20,000 A 13,000

M2 A (LAD) (D1 EH/ DI E}) 53,028,571 52,090, 361 938,210
el 2| 52,946,351 51,944,351 1,002,000
A2 52,946,351 51,944,351 1,002,000

04 HIRESS 45,391,292 44,389,292 1,002,000

01 H3RE= 39,261,750 38,259,750 1,002,000
DR SRE= 2 & 26,693,933,000& 26,693,933 26,012,677 681,256
OXXNEMEES 2 & 4,849,408,000& 4,849,408 4,725,646 123,762
DER2E XN+ RE=s ZE 6,825,854,000& 6,825,854 6,651,651 174,203
O Rg3 Z & 892,555,000& 892,555 869,776 22,779

JlE &3l 82,220 146,010 A63,790
JlE&l 82,220 146,010 A 63,790

202 Oddl 20,000 83,790 A 63,790

01 = LH 4 Hi 20,000 83,790 A 63,790
Ogex=a0tl Z & 20,000,000 20,000 83,790 263,790




== A
N & o & AF & H A A
20209 &= =& 3 3 Ler3|H HI
A XA SN DSFXY
H: XA HAHL} (NI /RULEESUS)
¢ RULEESSuSAA (9 ® =)
A= .24 - - HA(SH) - HRAY - BES Ofl & oH JEH Hn&s2Z
ML= FoRS Ny 80,907,047 82,380,608 A 1,473,561
= 708,000 708,000 0
< 80,199,047 81,672,608 A 1,473,561
ANALEQATHAS A (WE/FROULEETSUE) 57,988,455 58,912,126 A923,671
FOX=SSUSIE 57,988,455 58,912,126 A 923,671
QoM S SAEAY 1,405,649 2,329,320 A 923,671
308 XXIEHH SOl A 1,101,329 2,025,000 A 923,671
01 AXHHILEES 1,101,329 2,025,000 A 923,671
OSSO MEsS s (FLUEA)
23 1,101,329,000& 1,101,329 2,000,000 A 898,671
OZA4STHUSOIL A KR (HH2) 0 25,000 A 25,000
NEHeSsH423(UF/DSUR) 20,851,592 20,952,392 100,800
= 680,000 680,000 0
< 20,171,592 20,272,392 100,800
DsunsZHA 25 20,851,592 20,952,392 A100,800
= 680,000 680,000 0
< 20,171,592 20,272,392 100,800
etd=2stnsesiA 50,000 150,800 A100,800
308 XtXIEHHSOIA 50,000 150,800 A 100,800
01 AXNHHBANEES 32,000 76,800 A 44,800
OHStM2stnReasSd(MHZ) 0 44,800 A 44,800
10 B3I/ 2S0HUHeB&EEALS I 18,000 74,000 256,000
OUHeHF2MO0ICIHZ2ME(HAHZ) 0 56,000 256,000
HMSSEIEL(WE/BMN - APUSK) 2,013,380 2,442,470 A 429,090
= 28,000 28,000 0
< 1,985,380 2,414,470 A 429,090
X oITHION 2,013,380 2,442,470 A 429,090
= 28,000 28,000 0
=) 1,985,380 2,414,470 A 429,090
SIS F= 249,470 297,470 A 48,000
307 glz2tol & 20,000 68,000 A 48,000
02 It HNAMHEE 20,000 68,000 A 48,000
ONAANE DS HMEZS(EA2) 0 48,000 248,000
AEFEECWS 35,000 55,000 220,000
201 Let2d] 35,000 55,000 220,000
03 A2 Z Hl 35,000 55,000 220,000
LIAMBtE & =0t2t0I0I 2 & 35,000,000& 35,000 55,000 A 20,000
HESSHEHNE2Y 82,910 200,000 A 117,090
308 XtXIEHH SOl A 82,910 200,000 A 117,090
01 HXNHHBHELS 82,910 200,000 A 117,090




AZ: XA 2SN DSIEMY
HI: HAMSIESR T (NS /BN - ZHNK)
el XIS QITHON St AM)
&l 2M -3 .S (3H) - NIBAS - BEES 01l Ao I AR Husz
REEEEEENRNEEENE]
23X 82,910,000 82,910 200,000 A 117,090
ASCHMS S HEYSH 0 244,000 A 244,000
308 XtX SHHI SOl H 0 244,000 A 244,000
01 IIXISHHB AL 0 244,000 A 244,000
OMssdass B2t D& X & (A oH Y
) 0 244,000 A 244,000
HY2HAH (JIEH/IIE) 53,620 73,620 ~20,000
2| 53,620 73,620 220,000
=234 53,620 73,620 220,000
202 Ol 19,900 39,900 A 20,000
01 2o 19,900 39,900 A 20,000
OUSLE=R0iH 23 19,900,000 19,900 39,900 A20,000
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N & 0l & AF S & M M
2020EE £ 3 8 YuraH HA
AN ET-E SH MO EAD
Hu: ROSSHASIUIY (AUDDHH/LBHT)
Sl MOIS2SHTA S EERED
A .24 - B BAGEA) - NPAY - BES 0] &k o4 p/E-T Hl D2
N OHS = AL D 40,551,168 40,861,651 £310,483
2 1,792,913 1,131,196 661,717
s 5,639, 138 5,639, 138 0
= 33,119,117 34,091,317 A972,200
2SSTHHIIVIL (YU BTBUT /LB T) 39,705,053 39,976,536 A271,483
2 1,438,163 776,446 661,717
= 5,639,138 5,639,138 0
< 32,627,752 33,560,952 £933,200
MOt S 2S5t 4,09, 160 4,800,760 A701,600
MOlZ 2SS 8T 2 1,327,160 1,455,760 128,600
201 et A H| 24,600 39,600 ~15,000
03 & At2 2 bl 0 15,000 215,000
OMOISERRARY (HAY) 0 15,000 A15,000
307 £I2+0| & 1,272,000 1,385,600 A 113,600
02 SIHFMAYEE 896,000 973,600 AT7,600
SR A MRS DS (HHY) 0 57,600 A57,600
OV-Z2S A (HHY) 0 8,000 £8,000
OZSTUSYSLDK(HUY) 0 12,000 A12,000
04 I AAIR B T 124,000 160,000 36,000
X2 MOFS XIS XHOHS & OH(E o 2 0 8,000 £8,000
SENEETE e D) 0 16,000 £16,000
CIMOFS 0l & Al & AF 12,000,0009 12,000 16,000 ~4,000
OZSESSMEUDE(HUY) 0 8,000 8,000
NOHS 2 S HI & 503 5 0] = 8 AN 2 955,000 1,528,000 573,000
201 Lyt | 500,000 800,000 300,000
03 & At 2 bl 500,000 800,000 300,000
CMOIZ Ol 50 EII S AL S Y= H
A3 200,000,0008 200,000 500,000 300,000
301 YPB A 27,000 100,000 A73,000
12 JIEH2 43 27,000 100,000 A73,000
OMOISRESRHAELMOISAEZ2H AL
A 27,000,0009 27,000 100,000 A73,000
307 £I2+0I & 0 200,000 200,000
02 SIHFAAYEE 0 200,000 200,000
SEESTES = N ENEEETEEED) 0 200,000 200,000
UITENEEPIEE 24,547,174 23,885,457 661,717
2 661,717 0 661,717
s 5,639, 138 5,639, 138 0
= 18,246,319 18,246,319 0
K95, 105 EHZ I o = 7 661,717 0 661,717
2 661,717 0 661,717
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